Calculus 12
6-5 Questions

1. Find the derivatives of the following functions.

a) F(x) = (5-3x)’
c) G(x) = (x3 + X2 - 2)3‘

e)y =4x*+x

By (X3 + 2X° +1)2

6
y= (1+ 2\/;)
k) y = x-V1+x° - 6x*°

2. Differentiate.
a) F(x) =xVx*+1
0 G(x) = (x*-1) (2x-3)

X

e) F(X) = m

0 o)=[23

b) F(x) - (2x2 + 1)20
d) G(x) =Vx*-x+1

f)y = (1+ 3X + 4x2)_3

4

9- x*

j)y=VX+J;

) y=x2+(x2—1)5

h)y =

b) F(x) = (2x + 1)(4x - 1)5
d) G(x) = (x4 - X+ 1)2(x2 - 2)3

(1+2q2
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) f(t) -




w

x2_-1 (2x+ 3)

x*+1 ])y=\/4x—7
k) y = 3Vx(2x+ 1) +4x-3 Dy = V1+3/x

m)y=(t+i/m)20 n)y=\/x+\/x+w/;
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